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l' What is the IUPAC name of the compound A? 

A 

(I) 3A-dimethyl-6-propyloctane (2) 3A-dimethyl-6-ethylnonane (3) 6-ethyl-3A-dimethylnonane (4) 

5,6-dimethyl-3-propyloctane (5) 4-ethyl-6,7-dimethylnonane 

2, 	 What is the IUPAC name of the compound B? 

NH2CItC(CH
3 

1-0 
I 

8 

(I) 6-chloro-3-iodo-2-methylaniline(2) 5-iodo-2-chloro-6-methylaniline (3) 

2-chloro-5-iodo-6-methylaniline (4) 2-iodo-5-chloro-6-aminotoluene (5) 2-amino-3-chloro­

6-iodo-toluene 

3, Which of the following dienes can undergo a Diels-Alder reaction? 

(1) (2) 	 (5)W G-() (3) '\{:S" (4) C) cr 
4, Which of the following alkenes is least stable? 

(1) £.b (2) Y (3) ~ (4) b (5) t:b 
5, Arrange the following dienophiles in the order of increasing reactivity toward cyclopentadiene in 

Diels-Alder reaction. 

CN 	 OMe==ZN 
 ~ ~ 

B CA 

(l) C<B<A<D (2)A<B<C<D (3) D<B<C<A(4) D<A<B<C 


How many signals would you expect in the broad band decoupled l3C NMR spectrum of anisole? 


(I) 4 (2) 2 (3) 7 (4) 5 

I 
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7, Which of the following compounds is the easiest one to react through a SNI mechanism? 

N02 

(1) Y(2) (3) ~~ 
Br Br Br 

8, Which statement is correct for the reaction shown below? 

l-chloro-2,4-dinitrobenzene + NaOH -4> 2,4-dinitrophenol 

(1 ) This reaction is an electrophilic aromatic substitution. 

(2) This reaction is a SN2 Substitution. 

(3) This reaction is a nucleophilic aromatic substitution. 

(4) Substituted benzyne is the reaction intermediate. 

9, Which of the following compounds can react through a SN2 mechanism? 

Br Br Br Br 
(1) a (2) V (3) 00 (4) V (5) U 

Br 

10, Arrange the following nitrogen containing compounds in the order of increasing basicity. 

(j) 

o Li 

N ~N~ oH e 
C ED 

(l)A<B<E <C<D<E (2) C<B<E <A <D (3)B<A<C<D (4)D<A<B<C<E (5) C<E<B<A<D 

C 6 
0 

6OMe 
H30 +H30 + 29H 

...... 

Ph 
0 o Ph 

BF3 NaOH • H02CDC02H ... 4 ~C02EI 
et0 cJA H2O 

3 
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